# IDENTITIES AND RELATIONS INVOLVING PARAMETRIC TYPE BERNOULLI POLYNOMIALS 

B. $\mathrm{KURT}^{1}$, §

Abstract. The main purpose of this paper is to give explicit relations and identities for the parametric type Bernoulli polynomials. Further, we give some relations for the generalized Bernoulli polynomials.

Keywords: Bernoulli polynomials and numbers, Apostol-Bernoulli polynomials and numbers, Generalized Bernoulli numbers and polynomials, the parametric type Bernoulli polynomials.

AMS Subject Classification: 11B68, 11B73, 05A15.

## 1. Introduction

The classical Bernoulli polynomials $B_{n}^{(\alpha)}(x)$ of order $\alpha \in \mathbb{N}_{0}$ are defined by the following generating functions:

$$
\begin{equation*}
\sum_{n=0}^{\infty} B_{n}^{(\alpha)}(x) \frac{t^{n}}{n!}=\left(\frac{t}{e^{t}-1}\right)^{\alpha} e^{x t},|t|<2 \pi \tag{1}
\end{equation*}
$$

For $x=0, B_{n}^{(\alpha)}(0)=B_{n}^{(\alpha)}$ are called the Bernoulli numbers.
The generalized Apostol-Bernoulli polynomials $B_{n}^{(\alpha)}(x ; \lambda)$ of order $\alpha \in \mathbb{N}_{0}$ are defined by following generating function in ([3]-[16])

$$
\begin{align*}
\sum_{n=0}^{\infty} B_{n}^{(\alpha)}(x ; \lambda) \frac{t^{n}}{n!} & =\left(\frac{t}{\lambda e^{t}-1}\right)^{\alpha} e^{x t}  \tag{2}\\
(\lambda & \in \mathbb{C},|t|<2 \pi \text { when } \lambda=1,|t|<|\log \lambda| \text { when } \lambda \neq 1)
\end{align*}
$$

Bernoulli polynomials and the generalized Apostol-Bernoulli polynomials have been studied by many authors ([1]-[18]).

[^0]Natalini et al. [13] defined a new class of generalized Bernoulli polynomials $B_{n}^{[m-1]}(x)$, $m \geq 1$ by

$$
\begin{equation*}
\sum_{n=0}^{\infty} B_{n}^{[m-1]}(x) \frac{t^{n}}{n!}=\frac{t^{m}}{e^{t}-\sum_{h=0}^{m-1} \frac{t^{h}}{h!}} e^{x t} \tag{3}
\end{equation*}
$$

When $x=0, B_{n}^{[m-1]}(0):=B_{n}^{[m-1]}$ are called the new type Bernoulli numbers.
For $m=1, B_{n}^{[0]}(x):=B_{n}(x)$ is the classical Bernoulli polynomials.
Kurt [6] defined the new type generalized Bernoulli polynomials $B_{n}^{[m-1, \alpha]}(x)$ of order $\alpha \in \mathbb{N}$, the following generating function:

$$
\begin{equation*}
\sum_{n=0}^{\infty} B_{n}^{[m-1, \alpha]}(x) \frac{t^{n}}{n!}=\left(\frac{t^{m}}{e^{t}-\sum_{h=0}^{m-1} \frac{t^{h}}{h!}}\right)^{\alpha} e^{x t},\left(|t|<2 \pi, 1^{\alpha}:=1, h \in \mathbb{N}\right) \tag{4}
\end{equation*}
$$

Srivastava et. al. in ([16], [17]) defined two parametric kind of special cases of the Apostol-Bernoulli polynomials $B_{n}^{(c, \alpha)}(x ; \lambda)$ and $B_{n}^{(s, \alpha)}(x ; \lambda)$ of order $\alpha \in \mathbb{N}$ as:

$$
\begin{equation*}
\sum_{n=0}^{\infty} B_{n}^{(c, \alpha)}(x, y ; \lambda) \frac{t^{n}}{n!}=\left(\frac{t}{\lambda e^{t}-1}\right)^{\alpha} e^{x t} \cos (y t) \tag{5}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=0}^{\infty} B_{n}^{(s, \alpha)}(x, y ; \lambda) \frac{t^{n}}{n!}=\left(\frac{t}{\lambda e^{t}-1}\right)^{\alpha} e^{x t} \sin (y t) \tag{6}
\end{equation*}
$$

For $x, y \in \mathbb{R}$, the Taylor-Maclauren expansions of the two functions $e^{x t} \cos (y t)$ and $e^{x t} \sin (y t)$ are given by [11], respectively,

$$
\begin{equation*}
e^{x t} \cos (y t)=\sum_{n=0}^{\infty} C_{n}(x, y) \frac{t^{n}}{n!} \tag{7}
\end{equation*}
$$

and

$$
\begin{equation*}
e^{x t} \sin (y t)=\sum_{n=0}^{\infty} S_{n}(x, y) \frac{t^{n}}{n!} \tag{8}
\end{equation*}
$$

From (7) and (8), we get the following relations, respectively,

$$
C_{n}(x, y)=\sum_{k=0}^{\left\lfloor\frac{n}{2}\right\rfloor}(-1)^{k}\binom{n}{2 k} x^{n-2 k} y^{2 k}
$$

and

$$
S_{n}(x, y)=\sum_{k=0}^{\left\lfloor\frac{n-1}{2}\right\rfloor}(-1)^{k}\binom{n}{2 k+1} x^{n-2 k-1} y^{2 k+1}
$$

## 2. Some Explicit Relation Related To Parametric Type Bernoulli Polynomials

In this section, we define the parametric type Bernoulli numbers and polynomials. We give some relations and identities for these polynomials. We define the generalized
parametric cosine-Bernoulli polynomials ${ }_{C} B_{n}^{[m-1, \alpha]}(x, y)$ of order $\alpha$ and the generalized parametric sine-Bernoulli polynomials ${ }_{S} B_{n}^{[m-1, \alpha]}(x, y)$ of order $\alpha$ as, respectively:

$$
\begin{equation*}
\sum_{n=0}^{\infty}{ }_{C} B_{n}^{[m-1, \alpha]}(x, y) \frac{t^{n}}{n!}=\left(\frac{t^{m}}{e^{t}-\sum_{h=0}^{m-1} \frac{t^{h}}{n!}}\right)^{\alpha} e^{x t} \cos (y t) \tag{9}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=0}^{\infty} S B_{n}^{[m-1, \alpha]}(x, y) \frac{t^{n}}{n!}=\left(\frac{t^{m}}{e^{t}-\sum_{h=0}^{m-1} \frac{t^{h}}{h!}}\right)^{\alpha} e^{x t} \sin (y t) \tag{10}
\end{equation*}
$$

For $m=\alpha=1$ and $y=0$ in (9) reduces the classical Bernoulli polynomials.
It easy to see that if we set $m=\alpha=1$ in (9) and (10), we arrive at

$$
\sum_{n=0}^{\infty}{ }_{C} B_{n}^{[0]}(x, y) \frac{t^{n}}{n!}=\frac{t}{e^{t}-1} e^{x t} \cos (y t)
$$

and

$$
\sum_{n=0}^{\infty}{ }_{S} B_{n}^{[0]}(x, y) \frac{t^{n}}{n!}=\frac{t}{e^{t}-1} e^{x t} \sin (y t) .
$$

Theorem 2.1. The following relations hold true:

$$
\begin{gather*}
{ }_{C} B_{n}^{[m-1, \alpha]}(x, y)=\sum_{k=0}^{n}\binom{n}{k} B_{n-k}^{[m-1, \alpha]} C_{k}(x, y),  \tag{11}\\
{ }_{S} B_{n}^{[m-1, \alpha]}(x, y)=\sum_{k=0}^{n}\binom{n}{k} B_{n-k}^{[m-1, \alpha]} S_{k}(x, y),  \tag{12}\\
{ }_{C} B_{n}^{[m-1, \alpha]}(x+u, y)=\sum_{k=0}^{n}\binom{n}{k} B_{n-k}^{[m-1, \alpha]}(x, y) u^{k} \tag{13}
\end{gather*}
$$

and

$$
\begin{equation*}
{ }_{S} B_{n}^{[m-1, \alpha]}(x+u, y)=\sum_{k=0}^{n}\binom{n}{k} B_{n-k}^{[m-1, \alpha]}(x, y) u^{k} . \tag{14}
\end{equation*}
$$

Proof. Using equation (9), we write

$$
\begin{gathered}
\sum_{n=0}^{\infty} C_{C} B_{n}^{[m-1, \alpha]}(x, y) \frac{t^{n}}{n!}=\left(\frac{t^{m}}{e^{t}-\sum_{h=0}^{m-1} \frac{t^{n}}{n!}}\right)^{\alpha} e^{x t} \cos (y t) \\
=\sum_{n=0}^{\infty} B_{n}^{[m-1, \alpha]} \frac{t^{n}}{n!} \sum_{n=0}^{\infty} C_{n}(x, y) \frac{t^{n}}{n!} \\
=\sum_{n=0}^{\infty} \sum_{k=0}^{n}\binom{n}{k} B_{n-k}^{[m-1, \alpha]} C_{k}(x, y) \frac{t^{n}}{n!} .
\end{gathered}
$$

By comparing the coefficients of $\frac{t^{n}}{n!}$ in the both sides of the above equation, we arrive at (11).

Proof of (12), (13) and (14) are similar to that of (11), so it is omitted.
Theorem 2.2. The following relations hold true:

$$
\begin{equation*}
C_{n}\left(x_{1}+x_{2}, y_{1}+y_{2}\right)=\sum_{k=0}^{n}\binom{n}{k}\left\{C_{n-k}\left(x_{1}, y_{1}\right) C_{k}\left(x_{2}, y_{2}\right)-S_{n-k}\left(x_{1}, y_{1}\right) S_{k}\left(x_{2}, y_{2}\right)\right\} \tag{15}
\end{equation*}
$$

and

$$
\begin{equation*}
S_{n}\left(x_{1}+x_{2}, y_{1}+y_{2}\right)=\sum_{k=0}^{n}\binom{n}{k}\left\{S_{n-k}\left(x_{1}, y_{1}\right) C_{k}\left(x_{2}, y_{2}\right)+C_{n-k}\left(x_{1}, y_{1}\right) S_{k}\left(x_{2}, y_{2}\right)\right\} \tag{16}
\end{equation*}
$$

Proof. By (7), we write

$$
\begin{gathered}
\sum_{n=0}^{\infty} C_{n}\left(x_{1}+x_{2}, y_{1}+y_{2}\right) \frac{t^{n}}{n!}=e^{\left(x_{1}+x_{2}\right) t} \cos \left(\left(y_{1}+y_{2}\right) t\right) \\
=e^{x_{1} t} \cos \left(y_{1} t\right) e^{x_{2} t} \cos \left(y_{2} t\right)-e^{x_{1} t} \sin \left(y_{1} t\right) e^{x_{2} t} \sin \left(y_{2} t\right) \\
=\sum_{m=0}^{\infty} C_{m}\left(x_{1}, y_{1}\right) \frac{t^{m}}{m!} \sum_{k=0}^{\infty} C_{k}\left(x_{2}, y_{2}\right) \frac{t^{k}}{k!}-\sum_{m=0}^{\infty} S_{m}\left(x_{1}, y_{1}\right) \frac{t^{m}}{m!} \sum_{k=0}^{\infty} S_{k}\left(x_{2}, y_{2}\right) \frac{t^{k}}{k!} \\
=\sum_{n=0}^{\infty} \sum_{k=0}^{n}\binom{n}{k}\left\{C_{n-k}\left(x_{1}, y_{1}\right) C_{k}\left(x_{2}, y_{2}\right)-S_{n-k}\left(x_{1}, y_{1}\right) S_{k}\left(x_{2}, y_{2}\right)\right\} \frac{t^{n}}{n!} .
\end{gathered}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$, we get (15).
Similarly, by (8), we get (16).
For $x_{1}=x_{2}=x$ and $y_{1}=y_{2}=y$, we get respectively,

$$
C_{n}(2 x, 2 y)=\sum_{k=0}^{n}\binom{n}{k}\left\{C_{n-k}(x, y) C_{k}(x, y)-S_{n-k}(x, y) S_{k}(x, y)\right\}
$$

and

$$
S_{n}(2 x, 2 y)=\sum_{k=0}^{n}\binom{n}{k}\left\{S_{n-k}(x, y) C_{k}(x, y)+C_{n-k}(x, y) S_{k}(x, y)\right\}
$$

Theorem 2.3. The following summation formulas hold true:

$$
\begin{equation*}
{ }_{C} B_{n}^{[m-1]}(x+1, y)-{ }_{C} B_{n}^{[m-1]}(x, y)=n \sum_{k=0}^{n-1}\binom{n-1}{k}{ }_{C} B_{k}^{[m-1]}(x, y) B_{n-1-k}^{(-1)} \tag{17}
\end{equation*}
$$

and

$$
\begin{equation*}
{ }_{S} B_{n}^{[m-1]}(x+1, y)-{ }_{S} B_{n}^{[m-1]}(x, y)=n \sum_{k=0}^{n-1}\binom{n-1}{k}{ }_{S} B_{k}^{[m-1]}(x, y) B_{n-1-k}^{(-1)} . \tag{18}
\end{equation*}
$$

Proof. For $\alpha=1$, using (9), we write as

$$
\begin{aligned}
\sum_{n=0}^{\infty}{ }_{C} B_{n}^{[m-1]}(x+1, y) \frac{t^{n}}{n!} & -\sum_{n=0}^{\infty}{ }_{C} B_{n}^{[m-1]}(x, y) \frac{t^{n}}{n!}=t\left(\frac{t^{m}}{e^{t}-\sum_{h=0}^{m-1} \frac{t^{n}}{h!}}\right) e^{x t} \cos (y t) \frac{\left(e^{t}-1\right)}{t} \\
& =t \sum_{n=0}^{\infty}{ }_{C} B_{n}^{[m-1]}(x, y) \frac{t^{n}}{n!} \sum_{l=0}^{\infty} B_{l}^{(-1)} \frac{t^{l}}{l!}
\end{aligned}
$$

$$
=\sum_{n=0}^{\infty} n \sum_{k=0}^{n-1}\binom{n-1}{k}{ }_{C} B_{k}^{[m-1]}(x, y) B_{n-1-k}^{(-1)} \frac{t^{n}}{n!} .
$$

By comparing the coefficients of $\frac{t^{n}}{n!}$ in the both sides of the above equation, we arrive at (17).

Proof of (18) is similar to that of (17), so it is omitted.
Theorem 2.4. The following relations hold true:

$$
\begin{equation*}
{ }_{C} B_{n}^{[m-1, \alpha]}(x, y)=\sum_{k=0}^{\left\lfloor\frac{n}{2}\right\rfloor}\binom{n}{2 k}{ }_{C} B_{n-2 k}^{[m-1, \alpha]}(x, 0)(-1)^{k} y^{2 k} \tag{19}
\end{equation*}
$$

and

$$
\begin{equation*}
{ }_{S} B_{n}^{[m-1, \alpha]}(x, y)=\sum_{k=0}^{\left\lfloor\frac{n-1}{2}\right\rfloor}\binom{n}{2 k+1}{ }_{S} B_{n-2 k-1}^{[m-1, \alpha]}(x, 0)(-1)^{k} y^{2 k+1} . \tag{20}
\end{equation*}
$$

Proof. From (9), we write

$$
\begin{aligned}
& \sum_{n=0}^{\infty}{ }_{C} B_{n}^{[m-1, \alpha]}(x, y) \frac{t^{n}}{n!}=\left(\frac{t^{m}}{e^{t}-\sum_{h=0}^{m-1} \frac{t^{h}}{h!}}\right)^{\alpha} e^{x t} \cos (y t) \\
& =\sum_{m=0}^{\infty}{ }_{C} B_{m}^{[m-1 . \alpha]}(x, 0) \frac{t^{m}}{m!} \sum_{k=0}^{\infty}(-1)^{k} y^{2 k} \frac{t^{2 k}}{(2 k)!} \\
& =\sum_{n=0}^{\infty}\left[\sum_{k=0}^{\left\lfloor\frac{n}{2}\right\rfloor}\binom{n}{2 k}{ }_{C} B_{n-2 k}^{[m-1, \alpha]}(x, 0)(-1)^{k} y^{2 k+1}\right] \frac{t^{n}}{n!} .
\end{aligned}
$$

Comparing the coefficients $\frac{t^{n}}{n!}$, we have (19).
From (10), we write

$$
\begin{aligned}
& \sum_{n=0}^{\infty}{ }_{S} B_{n}^{[m-1, \alpha]}(x, y) \frac{t^{n}}{n!}=\left(\frac{t^{m}}{e^{t}-\sum_{h=0}^{m-1} \frac{t^{h}}{h!}}\right)^{\alpha} e^{x t} \sin (y t) \\
& =\sum_{l=0}^{\infty}{ }_{S} B_{l}^{[m-1 . \alpha]}(x, 0) \frac{t^{l}}{l!} \sum_{k=0}^{\infty}(-1)^{k} y^{2 k+1} \frac{t^{2 k+1}}{(2 k+1)!}
\end{aligned}
$$

By using Cauchy product and comparing the coefficients $\frac{t^{n}}{n!}$, we have (20).
Theorem 2.5. The generalized parametric Bernoulli polynomials satisfies the following equations, respectively;

$$
\begin{equation*}
C B_{n}^{[m-1, \alpha]}\left(x_{1}+x_{2}, y_{1}+y_{2}\right)=\sum_{k=0}^{n}\binom{n}{k}\left\{c B_{n-k}^{[m-1, \alpha]}\left(x_{1}, y_{1}\right) C_{k}\left(x_{2}, y_{2}\right)-s B_{n-k}^{[m-1, \alpha]}\left(x_{1}, y_{1}\right) S_{k}\left(x_{2}, y_{2}\right)\right\} \tag{21}
\end{equation*}
$$

and

$$
\begin{equation*}
s B_{n}^{[m-1, \alpha]}\left(x_{1}+x_{2}, y_{1}+y_{2}\right)=\sum_{k=0}^{n}\binom{n}{k}\left\{s B_{n-k}^{[m-1, \alpha]}\left(x_{1}, y_{1}\right) C_{k}\left(x_{2}, y_{2}\right)-{ }_{c} B_{n-k}^{[m-1, \alpha]}\left(x_{1}, y_{1}\right) S_{k}\left(x_{2}, y_{2}\right)\right\} . \tag{22}
\end{equation*}
$$

Proof. From (5), (6) and (9), we write

$$
\begin{aligned}
& \sum_{n=0}^{\infty} C^{[m-1, \alpha]}\left(x_{1}+x_{2}, y_{1}+y_{2}\right) \frac{t^{n}}{n!}=\left(\frac{t^{m}}{e^{t}-\sum_{h=0}^{m-1} \frac{t^{h}}{h!}}\right)^{\alpha} e^{\left(x_{1}+x_{2}\right) t} \cos \left(\left(y_{1}+y_{2}\right) t\right) \\
& =\left(\frac{t^{m}}{e^{t}-\sum_{h=0}^{m-1} \frac{t^{h}}{h!}}\right)^{\alpha} e^{x_{1} t} \cos \left(y_{1} t\right) e^{x_{2} t} \cos \left(y_{2} t\right)-\left(\frac{t^{m}}{e^{t}-\sum_{h=0}^{m-1} \frac{t^{h}}{h!}}\right)^{\alpha} e^{x_{1} t} \sin \left(y_{1} t\right) e^{x_{2} t} \cos \left(y_{2} t\right) \\
& =\sum_{j=0}^{\infty} C B_{j}^{[m-1, \alpha]}\left(x_{1}, y_{1}\right) \frac{t^{j}}{j!} \sum_{k=0}^{\infty} C_{k}\left(x_{2}, y_{2}\right) \frac{t^{k}}{k!}-\sum_{j=0}^{\infty}{ }_{S} B_{j}^{[m-1, \alpha]}\left(x_{1}, y_{1}\right) \frac{t^{j}}{j!} \sum_{k=0}^{\infty} S_{k}\left(x_{2}, y_{2}\right) \frac{t^{k}}{k!} \\
& =\sum_{n=0}^{\infty} \sum_{k=0}^{n}\binom{n}{k}\left\{{ }_{C} B_{n-k}^{[m-1, \alpha]}\left(x_{1}, y_{1}\right) C_{k}\left(x_{2}, y_{2}\right)-{ }_{S} B_{n-k}^{[m-1, \alpha]}\left(x_{1}, y_{1}\right) S_{k}\left(x_{2}, y_{2}\right)\right\} \frac{t^{n}}{n!} .
\end{aligned}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$, we have (21).
Similarly, from (5), (6) and (10), we have (22).
Setting $x_{1}=x_{2}=x$ and $y_{1}=y_{2}=y$ in equation (21) and (22), we have the following equations, respectively

$$
{ }_{C} B_{n}^{[m-1, \alpha]}(2 x, 2 y)=\sum_{k=0}^{n}\binom{n}{k}\left\{{ }_{C} B_{n-k}^{[m-1, \alpha]}(x, y) C_{k}(x, y)-{ }_{S} B_{n-k}^{[m-1, \alpha]}(x, y) S_{k}(x, y)\right\}
$$

and

$$
{ }_{S} B_{n}^{[m-1, \alpha]}(2 x, 2 y)=\sum_{k=0}^{n}\binom{n}{k}\left\{{ }_{S} B_{n-k}^{[m-1, \alpha]}(x, y) C_{k}(x, y)-{ }_{C} B_{n-k}^{[m-1, \alpha]}(x, y) S_{k}(x, y)\right\}
$$

3. Some Explicit Relations For $C_{C} B_{n}^{[m-1]}(x, y)$ AND ${ }_{S} B_{n}^{[m-1]}(x, y)$

In this section, we provide the following symmetry identities for the parametric the generalization of the Bernoulli polynomials, respectively, $C_{C} B_{n}^{[m-1]}(x, y)$ and ${ }_{S} B_{n}^{[m-1]}(x, y)$.

Theorem 3.1. The following symmetry equations for the parametric generalized Bernoulli polynomials, $C_{C} B_{n}^{[m-1]}(x, y)$ holds true:

$$
\begin{align*}
& \sum_{p=0}^{n}\binom{n}{p} a^{n-p} b^{p}{ }_{C} B_{p}^{[m-1]}(0, a y) B_{n-p}^{[m-1]}\left(\frac{b}{a} x\right) \\
= & \sum_{p=0}^{n}\binom{n}{p} b^{n-p} a^{p}{ }_{C} B_{p}^{[m-1]}(0, b y) B_{n-p}^{[m-1]}\left(\frac{a}{b} x\right) \tag{23}
\end{align*}
$$

where $a, b \in \mathbb{Z}^{+}$.
Proof. By using (3) and (9), we write as

$$
h(t)=\frac{(a t)^{m}}{e^{a t}-\sum_{h=0}^{m-1} \frac{(a t)^{h}}{h!}} \frac{(b t)^{m}}{b t}-\sum_{h=0}^{m-1} \frac{(b t)^{h}}{h!} e^{b x t} \cos (b y t)
$$

$$
\begin{aligned}
& =\frac{(a t)^{m}}{e^{a t}-\sum_{h=0}^{m-1} \frac{(a t)^{h}}{h!}} e^{\left(\frac{b x}{a}\right) a t} \frac{(b t)^{m}}{e^{b t}-\sum_{h=0}^{m-1} \frac{(b t)^{h}}{h!}} \cos (b y t) \\
= & \sum_{n=0}^{\infty} B_{n}^{[m-1]}\left(\frac{b x}{a}\right) \frac{(a t)^{n}}{n!} \sum_{n=0}^{\infty}{ }_{C} B_{n}^{[m-1]}(0, b y) \frac{(b t)^{n}}{n!} \\
= & \sum_{n=0}^{\infty} \sum_{p=0}^{n}\binom{n}{p} a^{n-p} b^{p}{ }_{C} B_{p}^{[m-1]}(0, b y) B_{n-p}^{[m-1]}\left(\frac{b}{a} x\right) \frac{t^{n}}{n!} .
\end{aligned}
$$

Let us consider

$$
\begin{gathered}
h(t)=\frac{(b t)^{m}}{e^{b t}-\sum_{h=0}^{m-1} \frac{(b t)^{h}}{h!}} \frac{(a t)^{m}}{a t}-\sum_{h=0}^{m-1} \frac{(a t)^{h}}{h!} e^{a x t} \cos (a y t) \\
=\frac{(b t)^{m}}{e^{b t}-\sum_{h=0}^{m-1} \frac{(b t)^{h}}{h!}} e^{\left(\frac{a x}{b}\right) b t} \frac{(a t)^{m}}{e^{a t}-\sum_{h=0}^{m-1} \frac{(a t)^{h}}{h!}} \cos (a y t) \\
=\sum_{n=0}^{\infty} B_{n}^{[m-1]}\left(\frac{a x}{b}\right) \frac{(b t)^{n}}{n!} \sum_{n=0}^{\infty} C^{B_{n}^{[m-1]}}(0, a y) \frac{(a t)^{n}}{n!} \\
=\sum_{n=0}^{\infty} \sum_{p=0}^{n}\binom{n}{p} b^{n-p} a^{p}{ }_{C} B_{p}^{[m-1]}(0, a y) B_{n-p}^{[m-1]}\left(\frac{a}{b} x\right) \frac{t^{n}}{n!} .
\end{gathered}
$$

Comparing the right-hand side of the last two equations, we get (23).
Corollary 3.1. The following relation holds true:

$$
\begin{aligned}
& \sum_{p=0}^{n}\binom{n}{p} a^{n-p} b^{p}{ }_{S} B_{p}^{[m-1]}(0, a y) B_{n-p}^{[m-1]}\left(\frac{b}{a} x\right) \\
= & \sum_{p=0}^{n}\binom{n}{p} b^{n-p} a^{p}{ }_{S} B_{p}^{[m-1]}(0, b y) B_{n-p}^{[m-1]}\left(\frac{a}{b} x\right) .
\end{aligned}
$$

Theorem 3.2. The parametric generalized Bernoulli polynomials, ${ }_{C} B_{n}^{[m-1]}(x, y)$ satisfies the following relation:

$$
\begin{aligned}
& \sum_{n=0}^{m}\binom{m}{n} \sum_{s=0}^{a-1} \sum_{r=0}^{b-1} C^{b} B_{m}^{[m-1]}\left(b u+\frac{b}{a} s, b y\right) B_{n-m}^{[m-1]}\left(a x+\frac{a}{b} r\right) a^{m} b^{n-m} \\
= & \sum_{n=0}^{m}\binom{m}{n} \sum_{s=0}^{a-1} \sum_{r=0}^{b-1} C_{C}^{[m-1]}\left(a x+\frac{a}{b} r, a y\right) B_{n-m}^{[m-1]}\left(b u+\frac{b}{a} s\right) b^{m} a^{n-m} .
\end{aligned}
$$

Proof. Let us consider

$$
\begin{aligned}
& g(t)=\frac{(a t)^{m}}{e^{a t}-\sum_{h=0}^{m-1} \frac{(a t)^{h}}{h!}} e^{a b u t} \frac{\left(e^{a b t}-1\right)^{2}}{\left(e^{a t}-1\right)\left(e^{b t}-1\right)} \frac{(b t)^{m}}{e^{b t}-\sum_{h=0}^{m-1} \frac{(b t)^{h}}{h!}} e^{a b x t} \cos (a b y t) \\
& =\frac{(a t)^{m}}{e^{a t}-\sum_{h=0}^{m-1} \frac{(a t)^{h}}{h!}} e^{a b u t} \cos (a b y t) \frac{\left(e^{a b t}-1\right)}{\left(e^{b t}-1\right)} \frac{(b t)^{m}}{e^{b t}-\sum_{h=0}^{m-1} \frac{(b t)^{h}}{h!}} e^{a b x t} \frac{\left(e^{a b t}-1\right)}{\left(e^{a t}-1\right)}
\end{aligned}
$$

$$
\begin{aligned}
& =\sum_{s=0}^{b-1} \sum_{n=0}^{\infty}{ }_{C} B_{n}^{[m-1]}\left(b u+\frac{b}{a} s, b y\right) \frac{(a t)^{n}}{n!} \sum_{r=0}^{a-1} \sum_{p=0}^{\infty} B_{p}^{[m-1]}\left(a x+\frac{a}{b} r\right) \frac{(b t)^{p}}{p!} \\
= & \sum_{n=0}^{\infty} \sum_{p=0}^{n}\binom{n}{p} a^{p} b^{n-p} \sum_{s=0}^{a-1} \sum_{r=0}^{b-1} C^{b} B_{p}^{[m-1]}\left(b u+\frac{b}{a} s, b y\right) B_{n-p}^{[m-1]}\left(a x+\frac{a}{b} r\right) \frac{t^{n}}{n!} .
\end{aligned}
$$

Since, $g(t)$ is symmetric in $a$ and $b$, therefore above expression can also be expressed as

$$
=\sum_{n=0}^{\infty} \sum_{n=0}^{m}\binom{m}{n} \sum_{s=0}^{a-1} \sum_{r=0}^{b-1}{ }_{C} B_{m}^{[m-1]}\left(a x+\frac{a}{b} r, a y\right) B_{n-m}^{[m-1]}\left(b u+\frac{b}{a} s\right) b^{m} a^{n-m} \frac{t^{n}}{n!}
$$

Comparing the coefficients of the right-hand side of the last two equations, we obtain it.

Corollary 3.2. The following equation holds true:

$$
\begin{aligned}
& \sum_{n=0}^{m}\binom{m}{n} \sum_{s=0}^{a-1} \sum_{r=0}^{b-1}{ }_{S} B_{m}^{[m-1]}\left(b x+\frac{b}{a} r, b y\right) B_{n-m}^{[m-1]}\left(a u+\frac{a}{b} r\right) a^{m} b^{n-m} \\
= & \sum_{n=0}^{m}\binom{m}{n} \sum_{s=0}^{b-1} \sum_{r=0}^{a-1}{ }_{S} B_{m}^{[m-1]}\left(a x+\frac{a}{b} r, a y\right) B_{n-m}^{[m-1]}\left(b u+\frac{b}{a} r\right) b^{m} a^{n-m}
\end{aligned}
$$

## 4. Conclusion

Many researchers ([1]-[18]) have studied and investigated intensively the Bernoulli numbers and polynomials, the Euler numbers and polynomials, the generalized Bernoulli and Euler polynomials and numbers and Apostol-Bernoulli and Apostol-Euler polynomials and numbers. Bretti et al. [1] and Kurt [6] considered generalized Bernoulli polynomials $B_{n}^{[m-1]}(x)$. They gave some recurrence relations. Srivastava et al. [15] investigated parametric kind of the Fubini-type polynomials and they proved some recurrence relations.

In this work, we define the new two parametric Bernoulli polynomials, respectively, ${ }_{C} B_{n}^{[m-1]}(x, y)$ and ${ }_{S} B_{n}^{[m-1]}(x, y)$. We give some relations between these polynomials and prove some theorems for these polynomilas. Furthermore, we prove the symmetry identities for these polynomials.

Acknowledgement. The present investigation was supported, by the Scientific Research Project Administration of Akdeniz University.

## References

[1] Bretti, G., Natalini, P. and Ricci, P., (2004), Generalization of the Bernoulli and Appell polynomials, Abstr. App. Math. Anal., pp. 613-621.
[2] Duran, U. and Sadjang, P.N., (2019), On Gould-Hopper-based full degenerate poly-Bernoulli polynomials with a $q$-parameter, Mathematics, 7, pp. 1-14.
[3] He, Y., Araci, S. and Srivastava, H.M., (2016), Some new formulas for the products of the Apostol type polynomials, Adv. Diff. Equa., 2016, Article 10.281, pp. 1-18.
[4] He, Y., Araci, S., Srivastava, H. M. and Acikgoz, M., (2015), Some new identities for the ApostolBernoulli polynomials and Apostol-Genocchi polynomials, Appl. Math. Compt., 262, pp. 31-41.
[5] Khan, W. A., Nisar, K. S., Duran, U., Acikgoz, M. and Araci, S., (2018), Multifarious implicit summation formulae of Hermite-based poly-Daehee polynomials, Appl. Math. \& Inform. Sci., 12, pp. 308-310.
[6] Kurt, B., (2010), A further generalization of the Bernoulli polynomials and on the $2 D$-Bernoulli polynomials $B_{n}^{2}(x, y)$, App. Math. Sci., 4, pp. 2315-2322.
[7] Kurt, B., (2013), Some relationships between the generalized Apostol-Bernoulli and Apostol-Euler polynomials, Turkish J. Anal. Number Th., 1, pp. 54-58.
[8] Lu, D.-Q. and Srivastava, H.M., (2011), Some series identities involving the generalized Apostol type and related polynomials, Comput. Math. Appl., 62, pp. 3591-3602.
[9] Luo, Q.-M. and Srivastava, H. M., (2005), Some generalization of the Apostol-Bernoulli and ApostolEuler polynomials, J. Math. Anal. Appl., 308, pp. 290-302.
[10] Luo, Q.-M. and Srivastava, H. M., (2006), Some relations between the Apostol-Bernoulli and ApostolEuler polynomials, Comput. Math. Appl., 51, pp. 631-642.
[11] Masjed-Jamai, M., Beyki, M. R. and Koepf, W., (2008), A new type of Euler polynomials and numbers, Mediterr. J. Math., 15:138.
[12] Masjed-Jamai, M. and Koepf, W., (2017), Symbolic computation of some power-trigonometric series, J. Symbolic Comput., 80, pp. 273-284.
[13] Natalini, P. and Bernardini, A., (2003), A generalization of the Bernoulli polynomials, J. Appl. Math., 3, pp. 153-163.
[14] Sadjang, P N. and Duran, U., (2019), On a bivariate kind of $(p, q)$-Bernoulli polynomials, Miskolc Math. Notes, 20, 1185-1199.
[15] Srivastava, H.M. and Kiziltas, C., (2019), A parametric kind of the Fubini-type polynomials, RACSAM, 113, pp. 3253-3267.
[16] Srivastava, H.M., Masjed-Jamai, M. and Beyki, M. R., (2018), A parametric type of the ApostolBernoulli, Apostol-Euler and Apostol-Genocchi polynomials, Appl. Math. Inform. Sci., 12, pp. 907916.
[17] Srivastava, H. M., Garg, M. and Choudhary, M., (2010), A new generalization of the Bernoulli and related polynomials, Russion J. Math. Phys., 17, pp. 251-261.
[18] Srivastava, H.M. and Choi, J., (2012), Zeta and $q$-Zeta Functions and Associated Series and Integrals, Elsevier, Amsterdam.


Burak Kurt graduated from Department of Mathematics, Akdeniz University, Antalya, Turkey. He has recently joined as doctor the Department of Mathematics, Akdeniz University of Education, Antalya TURKEY. His research interests are pure and applied mathematics including special functions, generating function, $q$-series and $q$-polynomials, theory of ( $\mathrm{p}, \mathrm{q}$ )-calculus, padic analysis and analytic number theory, Hermite polynomials etc.


[^0]:    ${ }^{1}$ Department of Mathematics, Faculty of Educations University of Akdeniz, TR-07058 Antalya, Turkey. e-mail: burakkurt@akdeniz.edu.tr; ORCID: https://orcid.org/0000-0003-3275-4643.
    § Manuscript received: August 27, 2019; accepted: February 28, 2020.
    TWMS Journal of Applied and Engineering Mathematics Vol.10, Special Issue © Işık University, Department of Mathematics 2020; all rights reserved.

